3 Wh- ()

[Qorcfld 2et234(8 - Hgrardl 2eR(E {2 Yorr O,

(1) 2+ L= 24 3 DY+ 2 = |

(1) [Aes + 2ude = [Acside (1) (€ + 204 = [

() R + 2uau = Reudx () (e + 28 = (dgud
() 21+ 9= 3 S ]

(1) & + 9 = Q= (1) ™+ 8 = R

(R) AR + Hg = 3w (R) (4 + da = (g
(3) 2L+ =2 3 Y+ ¢ =

(1) 8L + 92091 = ROl (1) 3 o+ g = ¥

() gL + Beq = U () wMel o+ g = W
(¥) 24+ G =2q 3 2+ Gl =20

(1) ¥yd + Gen = yulen (1) oy + G = epdl

() W+ BGusik = WIusR () 2ude + GORL = 2uddelll
(4) 2u+6G=20 % L+ Gl =20

(1) gl + Gd= Ul (1) o + QR = ol

(R) ¢l + Gy = wgleu () asl + QR = wslfl
(¢) 2+ 3= 3 L+ 2 = D

(1) Yt o+ 2= yaweu (1) AL + iq = kY

(R) 25 + sl = Bisdl () dul o+ 9 = ddd
(9) 2L+ 2L = 241 3 L+ 2 = 2]

(1) ovd + 28 = edld (1) 8L + 208 = wdA

() 28R + 2% = U () HsL + el = wéleral

¢ 3¢ 5%

R0



